
! 
× Aajno mHgz idvs × 

inj wadrva sud 1, xuk/var, 6 sP!eMbr 
pUÔ ]I sImH\r wgvan 

puStk pUÔ sHg/h pana nH.83 

 



! 
Aajno mHgz idvs 

inj wadrva sud 2, xinvar, 7 sP!eMbr  
pUÔ ]I mhavIr wgvan 

puStk pUÔ sHg/h pana nH.276 

 



! 
× Aajno mHgz idvs × 

inj wadrva sud 3, rivvar, 8 sP!eMbr  
pUÔ ]I \atkI ivdeh waiv tI=RHkr 

puStk pUÔ sHg/h pana nH.303 

 



! 
Aajno mHgz idvs 

inj wadrva sud 4, somvar, 9 sP!eMbr 
]I pvaRi\raj dx lÙ`I pyRu*a` pvRno p/arHw 

pUÔ 
1.]I dx lÙ` mHDz iv\an (S=apna) 
2.]I smuCcy pUÔ 
3.]I _¿mÙma \mR pUÔ 
4.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m Ùma \mR 

puStk ]I dx lÙ` iv\an pUÔ pana nH.1,3,7 
pUÔ sHg/h pana nH.398, jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud p, mHgzvar, 10 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m madRv \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m madRv \mR 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,14 
pUÔ sHg/h pana nH.398-399‡400,  
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 6, bu\var, 11 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m AajRv \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m AajRv \mR 
]I supa¬Rna= wgvan gwR kLya`k 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,20 
pUÔ sHg/h pana nH.398-400,  
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 7, guruvar, 12 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m sTy \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m sTy \mR 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,26 
pUÔ sHg/h pana nH.398-400, 
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 8, xuk/var, 13 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m xaEc \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m xaEc \mR, 
Aa@m 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,33 
pUÔ sHg/h pana nH.398-401,  
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 10, xinvar, 14 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m sHym \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m sHym \mR 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,40 
pUÔ sHg/h pana nH.398-401,  
jymala pana nH.403 



! 
× Aajno mHgz idvs × 

inj wadrva sud 11, rivvar, 1p sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m tp \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m tp \mR, 
]I sugH\ dxmI 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,46 
pUÔ sHg/h pana nH.398-401‡402,  
jymala pana nH.403 



! 
× Aajno mHgz idvs × 

inj wadrva sud 12, somvar, 16 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m Tyag \mR pUÔ 
3.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m Tyag \mR 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,p4 
pUÔ sHg/h pana nH.398-402,  
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 13, mHgzvar, 17 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m AaikHcNy \mR pUÔ 
3.]I sMyGdxRn pUÔ 
4.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m AaikHcNy \mR, 
]I rTn5y v/t p/arHw 

puStk 
]I dx lÙ` iv\an pUÔ pana nH.p-6,61,80 
pUÔ sHg/h pana nH.398-402,  
jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 14, bu\var, 18 sP!eMbr 

pUÔ 
1.]I smuCcy pUÔ- mha A\R 
2.]I _¿m b/ïcyR \mR pUÔ 
3.]I sMyG&an pUÔ 
4.]I dx lÙ` \mR pUÔ 

p/sHg ]I _¿m b/ïcyR \mR, AnHt caEdx,  
]I vasupUßy wgvanno moÙ kLya`k 

puStk ]I dx lÙ` iv\an pUÔ pana nH.p-6,68,82 
pUÔ sHg/h pana nH.398,  jymala pana nH.403 



! 
Aajno mHgz idvs 

inj wadrva sud 1p, guruvar, 19 sP!eMbr 

pUÔ 1.]I sMykŸ cair5 pUÔ 
2.]I rTn5y pUÔ 

p/sHg ]I rTn5y v/t pU R̀ 

puStk ]I dx lÙ` iv\an pUÔ pana nH.8p,87 

 



! 
Aajno mHgz idvs 

inj wadrva vd 1, xuk/var, 20 sP!eMbr 

pUÔ Ùmav`I pUÔ 

p/sHg ]I _¿m Ùmav`I pvR 

puStk pUÔ sHg/h pana nH.390 

 



! 
Aajno mHgz idvs 

inj wadrva vd 2, xinvar, 21 sP!eMbr 

pUÔ ]I nimna= wgvan 

p/sHg ]I nimna= wgvanno gwR 
kLya`k 

puStk pUÔ sHg/h pana nH.230 

 



! 
Aajno mHgz idvs 

inj wadrva vd 3, rivvar, 22 sP!eMbr 

pUÔ ]I bahublI wgvan 

puStk pUÔ sHg/h pana nH.313 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 4, somvar, 23 sP!eMbr 

pUÔ ]I Aaidna= wgvan 

puStk pUÔ sHg/h pana nH.110 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd p, mHgzvar, 24 sP!eMbr 

pUÔ ]I Aijtna= wgvan 

puStk pUÔ sHg/h pana nH.120 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 6, bu\var, 2p sP!eMbr 

pUÔ ]I sHwvna= wgvan 

puStk pUÔ sHg/h pana nH.12p 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 7, guruvar, 26 sP!eMbr 

pUÔ ]I AiwnHdnna= wgvan 

puStk pUÔ sHg/h pana nH.129 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 8, xuk/var, 27 sP!eMbr 

pUÔ ]I sumitna= wgvan 

p/sHg Aa@m 

puStk pUÔ sHg/h pana nH.133 

 



! 
Aajno mHgz idvs 

inj wadrva vd 9, xinvar, 28 sP!eMbr 

pUÔ ]I pÍp/wu wgvan  

puStk pUÔ sHg/h pana nH.138 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 10, rivvar, 29 sP!eMbr 

pUÔ ]I smvsr` ijn pUÔ 

puStk pUÔ sHg/h pana nH.99 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 11, somvar, 30 sP!eMbr 

pUÔ ]I supa¬Rna= wgvan  

puStk pUÔ sHg/h pana nH.14p 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 12, mHgzvar, 1 AoÉ!obr 
pUÔ ]I cHãp/wu wgvan  

puStk pUÔ sHg/h pana nH.1p6 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 13, bu\var, 2 AoÉ!obr 

pUÔ ]I pu*pdHt wgvan  

puStk pUÔ sHg/h pana nH.161 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 14, guruvar, 3 AoÉ!obr 

pUÔ ]I xItlna= wgvan  

puStk pUÔ sHg/h pana nH.16p 

 

 



! 
Aajno mHgz idvs 

inj wadrva vd 30, xuk/var, 4 AoÉ!obr 

pUÔ ]I ]eyaHsna= wgvan  

p/sHg caEdx 

puStk pUÔ sHg/h pana nH.171 

 


